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= Write each answer on a new page
= « COs=Course Outcome mapping. # BTL=Bloom’s Taxonomy Level mapping

_Q.No.. :_I. Attempt any Flve questluns S
1. | Explain with neat sketch types .5 of tool wear. I o1
| 2. Explam in the ‘metal cuttmg saw charactertshcs by a neat sketch e
3. _ Wlth sketch explam reamer and st show its dlfferentiy;es — [ | @]
| 4. | Wnth a sketch explam Turret head indexmg mechanlsm— | L
5. _" D:scribe the tool geb-metTV ofa pgain r'n_i-llin;cutTer with the h_elp of - o3
~ aneatsketch. I
| 6. | What do you understand by deep o hole dnllmg? Explaln \ the rnethods Co3
| fordeep holedrilling. I
No.2  Answer the followmg questlons - o Ma_rks (20)
T List reciprocating machine tool. Write e the difference between any | coz
| | two reciprocating machine tools. 1 I
| 2. ["Estimate the time reqmred to machine a cast iron surface 275 mm Eg;

| long and 100 mm wide in one cut using a cutting speed of 0.33
| m/s and a feed rate of 0.25 mm per stroke on a shaper with a
cutting-to-return time ratio of 3/2. The available ram strokes on

| machine are 28,40,60 and 90 strokes. N
3. What do you understand by tool life? A A carbide tool “with MS work ‘f 01
piece was found to give tool life of 2 hrs while cutting at 0. 5
| m/min. compute tool life if the same tool is used at a speed of
25% higher than the previous one. Also determine the value of ‘
‘ cutting speed if tool is required to have a tool life of 3 hrs.

Assume taylor’s exponent ‘n’ to be 0. 27. -

'_4,__7 " Available index plates are with the following number of »f hole circles:

On one side : 24,25,28, 37,38,39, 43
On reverse side : 46,47,49,51, 53,54,57,58 holes
Calculate the indexing required for the following divisions:
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